



St. Louis County, Minnesota

Date of Report: 12/14/2025 2:04:02 PM

General Details											
Parcel ID: 300-0010-00230											
Legal Description Details											
Plat Name: COLVIN											
Section	Town	ship Range	е	Lot	Block						
2	56	5 15		-	-						
Description:	SW 1/4 OF NW 1	1/4									
Taxpayer Details											
Taxpayer Name	SAUMER PAUL J	l									
and Address:	3410 AURORA R	D									
	MAKINEN MN 55	5763									
	Owner Details										
Owner Name	SAUMER PAUL J	l									
		Payable 2025 Tax Su	mmary								
	2025 - Net Ta	ax		\$2,357.00							
	2025 - Specia	al Assessments		\$85.00							
	2025 - Tota	ents	\$2,442.00								
		Current Tax Due (as of 1	2/13/2025)								
Due May 15 Due October 15			•	Total Due							
2025 - 1st Half Tax	\$1,221.00	2025 - 2nd Half Tax	\$1,221.00	2025 - 1st Half Tax Due	\$0.00						
2025 - 1st Half Tax Paid	\$1,221.00	2025 - 2nd Half Tax Paid	\$1,221.00	2025 - 2nd Half Tax Due	\$0.00						
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00						
Parcel Details											

Property Address: 3410 AURORA RD, MAKINEN MN

School District: 271

Tax Increment District: -

Property/Homesteader: SAUMER, PAUL J. & LORI

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$43,800	\$225,100	\$268,900	\$0	\$0	-		
111	0 - Non Homestead	\$32,900	\$0	\$32,900	\$0	\$0	-		
	Total:	\$76,700	\$225,100	\$301,800	\$0	\$0	2805		





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:04:02 PM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

ot Width:	0.00							
ot Depth:	0.00							
ne dimensions shown are no	ot guaranteed to be surv	ey quality. A	Additional lot	information can be	e found at			
tps://apps.stlouiscountymn.					ions, please email Property	Γax@stlouiscountymn.go		
	In	•		ails (RESIDEN	CE)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
HOUSE	1971	946 1,892 AVG Quality / 473 Ft ² 2S				2S - 2 STORY		
Segment	Story	Width	Length	Area	Foundation			
BAS	2	4	22	88	BASEMI	ENT		
BAS	2	22	39	858	BASEMI	ENT		
OP	0	6	22	132	POST ON G	ROUND		
OP	0	10	17	170	POST ON G	ROUND		
Bath Count	Bedroom Count	:	Room C	Count	Fireplace Count	HVAC		
1.75 BATHS	3 BEDROOMS		9 ROO	MS	0	CENTRAL, FUEL OIL		
	In	nprovem	ent 2 Det	ails (DETACHI	ED)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1971	79	2	792	-	DETACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	24	33	792	FLOATING SLAB			
		Improve	ment 3 D	etails (SAUNA)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
SAUNA	1971	14	0	140	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	10	14	140	FLOATING			
				4 D - (- ' - (0 ()				
		•		4 Details (St)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
STORAGE BUILDING	1971	37		376	-	-		
Segment	Story	Width	Length		Foundation			
BAS	1	10	16	160	FLOATING SLAB			
BAS	1	12	18	216	FLOATING	SLAB		
		Impro	ovement :	5 Details (St)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
STORAGE BUILDING	0	67	2	672	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	21	32	672	POST ON GROUND			

2 of 4





St. Louis County, Minnesota

					Date of Report	: 12/14/202	25 2:04:02 PI	
		•	ent 6 Details (FI	REWD ST)				
Improvement Typ		Main Flo	Main Floor Ft ² Gross Area Ft ² Bas			Style C	ode & Desc.	
STORAGE BUILDII	STORAGE BUILDING 0		300 300		-		-	
Segme		-	J	Area	Foundat			
BAS	0	15	20	300	POST ON GROUND			
		Improven	nent 7 Details (P	ERGOLA)				
Improvement Typ	oe Year Built	Main Flo	oor Ft ² Gross A	Area Ft ² Base	ment Finish	Style C	ode & Desc.	
	0	207 207)7				
Segme		y Width	Length	Area	Foundat	ion		
BAS	0	9	23	207	-			
		Improve	ment 8 Details (NEW PB)				
Improvement Typ	oe Year Built	Main Flo	oor Ft ² Gross A	Area Ft ² Base	Basement Finish Style Code &		ode & Desc.	
POLE BUILDING	2024	2,0	16 2,0	016				
Segme		y Width	3	Area	Foundation			
BAS	1	36	56	2,016	FLOATING SLAB			
LT	1	10	56	560	FLOATING	SLAB		
		Sales Reported	to the St. Louis	County Auditor				
No Sales informa	ation reported.							
	·	Λ.	ssessment Histo	NPN/				
	Class	^-		лу	Def	Def		
	Code	Land	Bldg	Total	Land	Bldg	Net Tax	
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity	
	201	\$47,700	\$208,700	\$256,400	\$0	\$0	-	
2024 Payable 2025	111	\$36,600	\$0	\$36,600	\$0	\$0	-	
	Total	\$84,300	\$208,700	\$293,000	\$0	\$0	2,707.00	
	201	\$40,100	\$138,500	\$178,600	\$0	\$0	-	
2023 Payable 2024	111	\$29,500	\$0	\$29,500	\$0	\$0	-	
	Total	\$69,600	\$138,500	\$208,100	\$0	\$0	1,879.00	
	201	\$40,100	\$126,400	\$166,500	\$0	\$0	-	
2022 Payable 2023	111	\$29,500	\$0	\$29,500	\$0	\$0	-	
, i	Total	\$69,600	\$126,400	\$196,000	\$0	\$0	1,747.00	
	201	\$34,700	\$105,200	\$139,900	\$0	\$0	-	
2021 Payable 2022	111	\$24,600	\$0	\$24,600	\$0	\$0	-	
	Total	\$59,300	\$105,200	\$164,500	\$0	\$0	1,406.00	
			⊥ Гах Detail Histor	y				
			Total Tax &					
Tax Year	Tax	Special Assessments	Special Assessments	Taxable Land MV	Taxable Build MV		ıl Taxable MV	
2024	\$1,787.00	\$85.00	\$1,872.00	\$65,060	\$122,819		\$187,879	
2023	\$1,803.00	\$85.00	\$1,888.00	\$64,468	\$110,222		\$174,690	
2022	\$1,647.00	\$85.00	\$1,732.00	\$53,383	\$87,260		\$140,643	





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:04:02 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.